Density

Density

Bp =6 line = MAGIC.338,Chr=1

1.0e-05
I

I I I I I I
1800000 2200000 2600000

0.0e+00

N =20 Bandwidth = 8635
breakpoint: 13709437 — 13709453 can-0 edi-0

Bp =8 line = MAGIC.338,Chr=1

0.02 0.03 0.04
| | |

0.01
|

0.00
|

I I I I I I I
5433140 5433160 5433180 5433200

N =3 Bandwidth = 6.739
breakpoint: 15814955 - 15815041 tsu-0 edi-0

Frequency

Frequency

15

10

line = MAGIC.338,Chr=1

[ ]

[ I I I I I I 1
1600000 2200000 2800000

breakpoint: 13709437 — 13709453 can-0 edi-0

1.0 15 20

0.5

0.0

line = MAGIC.338,Chr=1

[ I I I I I I
5433150 5433160 5433170 5433180

breakpoint: 15814955 — 15815041 tsu-0 edi-0



Density

Density

0.002 0.004

0.000

0.000 0.002 0.004 0.006

Bp = 18 line = MAGIC.338, Chr=2 line = MAGIC.338, Chr=2

o
- d). ]
— o
NI
c
(O]
: -
— o
(O]
L < _
—
_ e _
T T e g T |
4402400 4402800 4402500 4402700 4402900
N =4 Bandwidth = 61.84 breakpoint: 5052632 - 5052636 wu-0 col-0
breakpoint: 5052632 - 5052636 wu-0 col-0
Bp = 23 line = MAGIC.338, Chr=2 line = MAGIC.338, Chr=2
e _
—
— [o0]
o
& o |
_ g ©
>
g < _
I o
N o~
N
_ e _
T T T T T T e T T |
5550 5600 5650 5700 5750 5800 5600 5650 5700 5750
N =2 Bandwidth =27.19 breakpoint: 7158572 - 7158900 po-0 sf-2

breakpoint: 7158572 - 7158900 po-0 sf-2



Density

0.004 0.008

0.000

Bp = 24 line = MAGIC.338, Chr=2

I I I I I
0e+00 2e+06 4e+06 6e+06 8e+06

N =14 Bandwidth = 32.79
breakpoint: 7224004 - 7224490 sf-2 po-0

Frequency

8 10 12

6

line = MAGIC.338, Chr=2

[ 1]

[ I I I I
0e+00 2e+06 4e+06 6e+06 8e+06

breakpoint: 7224004 — 7224490 sf-2 po-0



